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05  1

Draw the reflection of all the shaded shapes in the mirror line.  
 

 
 
 

  

2

1 mark

2

M0830 Ssm S1c,S2c,U L3 XXX

mirror line

M0830_2  –  14 January 2013 4:45 PM – Version 2

Total out of 3

[1 mark]

1
1

[2013]

Draw in and shade 3 triangles to complete the reflection in the mirror line.

5

10

15

Mirror line, Theatre

Draw in and shade 3 triangles so that the dashed line is 
a line of symmetry (a mirror line).

2

2 marks

Rachel likes going to the theatre.

Each time she goes she pays for one ticket and one programme.

In one year Rachel goes to the theatre 13 times.

Altogether, how much does she pay?

Show your working.

£

Programme

£ 2.50

Ticket

£18.45

3

2 marks

Y7/03/Ma/Levels 3–4/P2
4

S	

mirror line

[1 mark]

2
2
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 14

Here are five digit cards.

  

1
 

3
 

4
 

6
 

9

Use each card once to complete the statements below.

  

8 > 5

  

0 < 2

  

> 7
  

12i

12ii

2 marks
 

12

Draw two more circles on this grid to make a design that has a line 
of symmetry.

  

13

1 mark

13

TestB.indd   14TestB.indd   14 15/11/2007   15:57:4015/11/2007   15:57:40

[1 mark]

3
3

[2008]

4

2 Circle the number that is closest to 700

750 72 651 69 770

1

Complete the diagram below to make a shape that is
symmetrical about the mirror line.

Use a ruler.

mirror line

2

!1

1 mark

!2

1 mark

[1 mark]

4
4

[2004]



 4 

Write these numbers in order of size, starting with the smallest.

901 1091 910 109 190

smallest

1

1 mark

1

These two shapes are made from equilateral triangles.

Draw one line of symmetry on each shape.

Use a ruler.

2

1 mark

2

[1 mark]

5
5

[2006]

Total out of 55

Complete the diagram below to make a shape that is
symmetrical about the mirror line.

Use a ruler.

mirror line

3

Which of these numbers give 80 when rounded
to the nearest 10?

Circle all the correct numbers.

84 87 72 76 90

4

3

1 mark

4

1 mark

Total out of 55

Complete the diagram below to make a shape that is
symmetrical about the mirror line.

Use a ruler.

mirror line

3

Which of these numbers give 80 when rounded
to the nearest 10?

Circle all the correct numbers.

84 87 72 76 90

4

3

1 mark

4

1 mark

Mirror line

[1 mark]

6
6

[2003]



 5 Total out of 4

These diagrams are made from regular octagons.

Draw the line of symmetry on each diagram.

Use a ruler.

 

3

3i

3ii

2 marks

2M008_V01_KS2MathsTestB_05012011.indd   5 23/12/2010   16:05

[2 marks]

7
7

[2011]
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M01500_ triadd Num N3i1 L3

Circle three numbers that add to make 750

 450 350 250 150 50  
4

1 mark

4

M01500  –  4 October 2013 1:44 PM – Version 2

 1windmill SSM SSM3b2 L3

Complete this shape so that it is symmetrical about the mirror line.

Use a ruler.

mirror line

 

3

1 mark

3

M01574  –  21 October 2013 10:58 AM – Version 2

[1 mark]

8
8

[2014]

Circle three numbers which add to make 190

10 30 50 70 90
1

1 mark

1

Write in the missing number.2

8 t = 400 2

1 mark

Shade in two more squares to make this design
symmetrical about the mirror line.

You may use a mirror or tracing paper.

3

1 mark

3

2

Circle three numbers which add to make 190

10 30 50 70 90
1

1 mark

1

Write in the missing number.2

8 t = 400 2

1 mark

Shade in two more squares to make this design
symmetrical about the mirror line.

You may use a mirror or tracing paper.

3

1 mark

3

2

[1 mark]

9
9

[2001]



These three square tiles have symmetrical patterns on them.

Draw the line of symmetry on each tile.

Use a ruler.

cm

cm
Page 6 of 24  1squardio SSM SSM2c2 L3

These three square tiles have symmetrical patterns on them.

Draw the line of symmetry on each tile.

Use a ruler.

 

4

M003572  –  13 August 2014 2:34 PM – Version 2

4i

4ii

2 marks

D00060A0624

9

[2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2015, 3-5-1 Q4:  2 Marks[2015]

Page 6 of 24  1squardio SSM SSM2c2 L3

These three square tiles have symmetrical patterns on them.

Draw the line of symmetry on each tile.

Use a ruler.

 

4

M003572  –  13 August 2014 2:34 PM – Version 2

4i

4ii

2 marks

D00060A0624

9

[2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2015, 3-5-1 Q4:  2 Marks[2015]

Page 6 of 24  1squardio SSM SSM2c2 L3

These three square tiles have symmetrical patterns on them.

Draw the line of symmetry on each tile.

Use a ruler.

 

4

M003572  –  13 August 2014 2:34 PM – Version 2

4i

4ii

2 marks

D00060A0624

9

[2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2015, 3-5-1 Q4:  2 Marks[2015]

[2 marks]

10
10

[2015]

Page 9 of 24 

 This diagram shows a shaded shape inside a border of squares. 
 

Draw the reflection of the shape in the mirror line.
 
 Use a ruler. 
 

mirror line

6

1 mark
M003259

M003259_searchlight  –  29 September 2015 10:30 AM – Version 4

KS2 item template version 1.1

4G2c/5P2

E00070A0924

[1 mark]

11
11

[2016]



Here is a shaded square on a grid.

Shade in 3 more squares so that the design is symmetrical in both 
mirror lines.

5

10

15

15 Total

18

Here are four number cards.

and

Which two number cards are factors of 42?

47123

Here is a shaded square on a grid.

Shade in 3 more squares so that the design is
symmetrical in both mirror lines.

19

!18

!19

254779 Maths 5a Yr5 L3-5.qxd  7/5/03  11:35  Page 15

S	

mirror line

mirror line

[1 mark]

12
12

[Extra]

Here are five shapes on a square grid.

5

10

15

 Write the letters of two shapes which have a line of symmetry.

8

Here are five shapes on a square grid.

Write the letters of the two shapes which have a 
line of symmetry.

and

7

!7ii

2 marks

!7i

Calculate 13.6 – 2.88

!8

1 mark

[1 mark]

13

13

[2004]

8

Here are five shapes on a square grid.

Write the letters of the two shapes which have a 
line of symmetry.

and

7

!7ii

2 marks

!7i

Calculate 13.6 – 2.88

!8

1 mark

[1 mark]

13

13

[2004]

[1 mark]

13
13

[2004]



Total out of 57

Here is a grid with eight squares shaded in.

Shade in two more squares to make a symmetrical 
pattern.

7

Each of these bags contains £1.60

Each bag contains only one type of coin.

Complete this table to show how many coins are in 
each bag.

One has been done for you.

8

7

1 mark

8

1 mark

[1 mark]

14
14

[2003]

Here are five quadrilaterals on a square grid.

A dotted line has been drawn on each quadrilateral.

For each shape, put a tick ( ) if the dotted line is a line of symmetry.
Put a cross ( ) if it is not a line of symmetry.

8i

8ii

2 marks

8

 9 Total out of 4

289983_KS2Ma_2009_081212_v0.0_Be9 9289983_KS2Ma_2009_081212_v0.0_Be9   9 09/12/2008 16:29:5509/12/2008   16:29:55

[1 mark]

15
15

[2009]



Here is a design on a square grid.

Complete the design so that it is symmetrical about the mirror line.

Use a ruler.

cm

Sourced from SATs-Papers.co.uk https://www.SATs-Papers.co.uk

14

[1 mark]

Note that these questions are sorted in date order (most recent questions first).

May 2012, 3-5-2 Q9:  1 Marks[2012]

mirror line

[1 mark]

16
16

[2012]

11 Total out of 5

(10 + 5) – 9 (10 + 9) – 5

3 t (4 + 5) (3 t 4) + 5

(10 t 4) 2 10 t (4 2)

Write the correct sign >, < or = in each of the following.12

13 Here is part of a shape on a square grid.

Use a ruler.

Draw two more lines to make a shape which has a 
line of symmetry.

12ii

2 marks

12i

13

1 mark

[1 mark]

17
17

[2005]
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Amy has some circular tiles and some rectangular tiles.

She makes these patterns with them.

For each pattern, put a tick ( ) if it has a line of symmetry.
Put a cross ( ) if it does not.

16

16i

16ii

2 marks

[1 mark]

18
18

[2010]



Here are four designs made from two sizes of circles.

5

10

15

 Write the letters of all the designs that have line symmetry.

11  2

Here are four designs made from two sizes of circles.

A B

C D

Write the letters of all the designs that have line symmetry.

  

10

M01108 ball bearings SSM SSM2c2 L4

10i

10ii

2 marks

M01108_2  –  14 January 2013 4:47 PM – Version 1

Total out of 4

[1 mark]

18

18

[2013]

11  2

Here are four designs made from two sizes of circles.

A B

C D

Write the letters of all the designs that have line symmetry.

  

10

M01108 ball bearings SSM SSM2c2 L4

10i

10ii

2 marks

M01108_2  –  14 January 2013 4:47 PM – Version 1

Total out of 4

[1 mark]

18

18

[2013]

11  2

Here are four designs made from two sizes of circles.

A B

C D

Write the letters of all the designs that have line symmetry.

  

10

M01108 ball bearings SSM SSM2c2 L4

10i

10ii

2 marks

M01108_2  –  14 January 2013 4:47 PM – Version 1

Total out of 4

[1 mark]

18

18

[2013]

[1 mark]

19
19

[2013]

Shade 5 squares, on the grid below, to draw a pattern that has more 
than one line of symmetry.

5

10

15

Y7/04/Ma/Levels 3–4/P2
9

Area

Look at the shaded shape on this centimetre square grid.

(a) Explain why the shape is a hexagon.

(b) What is the area of the hexagon?

cm2

(c) On the centimetre square grid below, draw a triangle that has an 
area of 2cm2

9

1 mark

1 mark

1 mark

Y7/07/Ma/Levels 3–4/P1 18 

Symmetry

19   You can make patterns on square grids using 5 square tiles.

This pattern has one line of symmetry.

Use 5 square tiles to draw a pattern on the grid below that has 

more than one line of symmetry.

1 mark

275687_paper 1.indd   Sec1:18275687_paper 1.indd   Sec1:18 25/1/07   12:03:35 pm25/1/07   12:03:35 pm

AS	

[1 mark]

20
20

[Extra]



 10

Here is part of a number sequence.

The numbers in the sequence increase by 25 each time.

50 75 100 125 …

Circle all of the numbers below that will appear in the sequence.

255 650 735 900 995  
9

1 mark

9

Shade two squares and one triangle to make this design 
symmetrical about the mirror line.

mirror line

  

 

10

10

1 mark

[1 mark]

21
21

[2011]

 12 

Here are five patterns.

For each pattern put a tick ( ) if it has a line of symmetry.
Put a cross ( ) if it does not.  

 

12i

12ii

2 marks

12

Calculate 17 × 5 × 4

  
11

1 mark  

11

21 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37KS2 MathsTestA_275355.indd   12KS2 MathsTestA_275355.indd   12 6/2/07   5:19:41 pm6/2/07   5:19:41 pm

[2 marks]

22
22

[2007]


